Tecal Questions . 50 Timins - § he
(1) Goneral fwars- | [¥) Currant {#) Achievers |
s e | M | PUNHR | Cseoe
mﬂmﬂm H_.,ﬂﬂm EL| I 5m ' 5 ] T
Marks per Quas 1 1 1 . 3

WK W S AR IS S 7

Plats and Animas, Indiaand the Warld, Soierce and Technalodgy, Earth and i Envranment, Univeri, Lonquage-and Liessbare, Enteriainment, Social Sdiss, Sporis,
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Angel Falls |s the world's taliest walerfall, It is
situated in which of the fallowing countries?

() India {B) Venezuela

IC) Russia {0} Africa

An Impartant contribution of Swami Vivekananda
Wids

iA) Opening the Banaras Hindu University

1B} Abclition of Sati avstem

(C) Opening of Shantiniketan

(D) Starting the Ramaknishna Mission

Who amiong the folfowing was the longest serving
Prime Minlster of our country ?

(&) Inder Kumar Gujral

(B} Jawaharlal Nehru

(C) Rapy Gandhi

(D) Morarji Desai

Haw many achedules are there in the Indian
Consfitution?

(A) 10 {B) 13

{C) 1 (D) 12

What Is the full form of GPS?
iA) Gateway Position System

Al..-HIE'u"E

Select the incorect maich.

Play Characters
(A} Othello - Desdermana, Lago, Cassio
{B) As You Like it — Rosalind, Frederick, Celia
(C) King Lear - Prospero, Miranda, Caliban
(D) Machalh — Duncan, Macduff, Bangug

(B) Global Positioning System
(C) General Power Status
D) Mone uf m

B, : is the Iarg&s! member of the monkay
family,
{A) Baboon
(B} Pygmy marmaosal
{C}) Mandrill
(2% Monre of these

7. What is the full farm of LANT
(A Local Area Mebwork
(B) Larga Area Network
(C) Lateral Air Network
(D) Loose Air Netwark

8. A farmer who regularly waon prizes for best crop
oulput expiained the reason for his success as
*| ghare my bast seads with my neighbour farmers”,
Why did he da this?
(&) He did not want his neighbours o be Jealous.
(B} He really liked his neighbours.
[Z) This ensured betier pollination for hus

CIOpS.

(B) He s a generous person, He likes lo share.

3

10. Asumof T 1550 is lent out info twio parts, one at 8%
and anather one at 6%, If the fotal annual interest is
T 106, then the monay lent at 6% is
{A) TE50
(B) T:900
(C) THOOD
(D) T750
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FYLLABLIS

Section - 1 = Sjeibngs, Collacitioen and Words irdatml i Trnve, Localions, it omanyms and Homophones, 1, Synooys, Astenvives, Analoges aod Spefing, One wood,
Phrrsal verbs geed i, Mexdak, Word svder, Nowns, Pronouna, Verbs, Acverte, Aductives, Arscles, Prepandtions, Conjuscsions, Penctisation, Teese:, Voioss and Mamation, exc.
Section — 2 ; Seach for dnd setrieve infomation from veriods et types e Neas sories, Brochures, Famal and isformal leties and adveitisaments. Undersand fnmation given
in Mk repars, Brochones, iineraiy, efe. hiquise broed uideistanding of and oo Tor dpecie infoimation in shom narmeties, Biogroghlis, Motkes el Mitsages, s,

Sectlom = 3| Abdbry to undiarstand shuation-besed sieaninng n functions Bl regeesibog and refsing. Apolocies and sating of profesenoes and gigression of Intant, efc
Section = 4 | Hygher Sraer Thinking Qoestions - Syllzbus a5 pee-Seiions |, 2and 3

WORD AND STRUCTURE KNOWLEDGE

Direction (0. No. 1 and 2) © Chooss the suitable word Rahul: Well'! Being invited is one thing.
for each bliank . . inviting onesel is anaother.
1 ?:}m'E?ﬂE w:'!nim’rerpre‘ﬁ'::- I;s:l a.ntﬂ = . (&) Whoever (B] Whereas
interpratls intarpretar C) Co red D) Besides

() Inferprecian D} interpretor {6 Rormee el
2, Many digmond mines ane I South Africa. 4. In """hl':lf santence is "I"! word ‘1o° correctly used?

(&) situaticn (B} situate (A This watermealon is I haawy,

(G} situated D) siluating (B Hold it with to hands,
—_— R ch I1swryslu|:fpary fo.

Rayl: Dd vou invite her 1o the pary? (D} Well, hand it to me.

READING

Dwrection (. Mo. 5 and 6) ; Read the passage and answer gaid one of the rebbits, "things-are nol 50 bad as they
the following questions, seam.” There is always someone worse off than wou
These iz-always someona worse off than wou." 5. Rabbilz wanted to drown themselves because they
Cnce upon & time, the rabbits of Jim Corbett were so &
terrarised by the other animals; they did not know where (A) wene scared of the horses

(B} did not like living in faar
(C) were chasing the frogs
(D} had nowhere lo go

o go. As soon as they saw 8 single animal approach
them, off they used to run. One day, they saw & troop
of wild horses stampeding aboul and in quite a panic all

the rabbits scuttied off to a lake close by, determined to 6. Rabbits-ran away from othier animals because they
drown themselves rather than live in & continual state

of fear, But just as they got near the bank of the lake, a Eg; :;T:h? drownt themseives

troop of frogs inightened in their turn by the approach of (C) were scared of being stepped on

the rabbits, scuttied off and jumped into the water, "Trufy,” (D} were ammogant

SPOKEN AND WRITTEN EXPRESSION

Direction (Q. No. 7 and B) - Choose one sentence to {A) That's why He decided to bless the Earth with
complate each dialogue. riches ;

(C} Earth could have them in abundance

h i
to have a happy life {D} Therefore, He created the Earth

Senlence 2 )
Sentence 3 : Water, air and sunlight were, therafore, 8. Benlence 1: From ancient times Indians have
given in abundance, worshipped plants and trees.

SUT | SBample Paper | Class-T se—



Sentenca 2

Sentence 3 : While modern man often works to
‘conguer’ nature, ancient Indians worshipped her.
(A) They regarded all ficra and fauna a3 sacred

(B) Thesa plants give us food and oxygen
(C) They lend beauty to our surroundings

{D) These plants sacrifice themselves to serve us

3. Choose the besl word/phrase to complete the
sanience,

10, Choose the appropriate phrase.
The teacher approved her project after she had

The new engineer has gualifications it
but only & few months' experiencs. i
(A) @ plentiful (B) plenty (A} fine turned (B} fine-tumed
(C) plenty of (D) & lot than () tinkened with (D) refining
: Tofal Gusstions ; 50 Tieme:; 1 b,
PATTERN & MARKING STHEME
Seftion {1) Lagical Reasoning {2} Science
e | Mo of Questions | 10 2 Erisas
SCIENCE (LYMPIAD | Mearks per Ques: | I . i I 3
SYLLABUS

Seettion =1 3 Voihad and Mon-Versal Reasaning.

Section - 3 - Heat, Moticn and Time, Eectnr Cueront and ies Tflerts, Light, Acids, Rases and Salt, Physical and Chemical Changes, Nutrition in Plass s dsimaly Egspiation in
Chigarisi, Tansportation in Plants and A Repoduction in Plants Maberal Besurces and Thair Conseration fForesh: Dir Lifeline. Wastmwater Stong

Section -1 = Higrei Girdar ”Illhﬂg Juestiom « Sylates 35 mey Section — 2,

LOGICAL REASONING

1. Tarun faces towards Morth, Tuming to his right,
he walks 25 metres, He then lurns 1o his left and
walks 30 metres. Next, he moves. 25 melras to
his night. Finally, he tums o tha right and moves
40 metres. In which direction is he now from his

starting podind 7
(A) South-West (B) South
()} Morth-\Wiest (D} Soulh-East

2. Which of the following is exactly in the middle of the
17" element fram the right end and 18™ element from
the left end in the given amangement?

IDBSCAEBANSFIAP*OM@K2ZB%THU
{A) A (B} 1
{C) F (D)

3. Select a figure from the oplions which does not
salisfies the same conditions of placement of the

dotz-as In Fig: (X,

Fig. (X}
(A) z% ®
(C) @ (D} @

LED

& Xis present in the stomach, Howaver, présence of
excess of it causes indigestion, which requires the
iMake of mikk of magnesia o undo the effect of X,

What is X7
{A) HC (B} H.50,
— Gample Papar | Clags-7 | 55 F s e ——

(C) NaOH (D) KOH

5. The given diagram shows blood circulation pathway
in the heart. Which aof the following comectly shows
the ralative amount of cxygen and carbon dioxide
at P, Q. Rand 57

— .




T.
More CO, More O,
(A} R P.Q 8
B} Qand R Pand 5
{C) '8 R
(D) Pand O R and S
2

Some blobs of wax are placed on a silver ring as
shown in the deagram, If the ring is heated at X,
then choose the correct oplion regarding the meiting
of wax because of healing.

(&) Only blab R melts,

(B} Blabs R, S and Q malt Ingather.

(C) Mealting of blobs occurs inthe arder R, Q, S and
o

(D} P, Q, Rand 5 blobs meit together.

Which one of the following is true for all chemical
reactons?

{A) There is a change in volume.

{B) Heatis evolved.

{C} Chemical bonds are broken or formed.

(D) There is a change in mass,

When a person breathes In, what happans to the
diaphragm and lo the rib cage?

Diaphragm Rib cage
(4) Becomes flatten Moves downwards
and irwards
(B} Becomes flatten Moves cutwards and
upwards
{Z) Becomes more Moves downwards
curved and inwards
() Becomes mare Moves outwards and
curvad upwaErds

=g S

— e T

8. A& poinl object P moves
iowards a comvex mirmar with
a constant speed v, along its
optic axis. The speed of the
image

(A) s always less than v
(B) = always more than v
G} Iz equal to v

(D) Decreases as P comes closer to the miror,

1. Study the given flow chart end select the option that

correctly identifies X, ¥ and 7.

¥
Propagabes Propagates B4
= ==
i O
) 4 Y z
(A} Brioohyllum  Bougaimnwilfea Carrot
(B) Dahiia Begania FPotaio
{C) Begonia Ginger Asparagus
(D) Bryophylim  Strawberry  Dahfla

Tt CQuestions - 50

PATTERN & MARKING 5CHEME

. (1} Losglcat
R Reasoning | Ressoming | Mathem
MNoofQuestions | 15 | W {
MarksperQues. | 1 1

SYLLABYS
eothon — 1 : Verbal and Non-Yeehal Arasoning

Secthon - 11 Inlege, Fractions ood Decmaly, Esponents and Powels, Algebraic Bgvession, Simgle Baoation, 1ies aod Sngles; Companng Quanttes, The Tiangle and-is

Propertiey, Sommusry, Batinral Numbors, Fenineier i Aiea, Dats Handing, Viumksing Sold Shapes:
Section — 3.; Syilabus ap par becton — 2.
Section — & © Hgher (eder Thinking Cuestions - Syllabin o6 per Section -2
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LOGICAL REASONING

1. Find the missing figure in the given figure matrix,

2
7
d

2.

>
—

S

3.

(A)

o[

MATHEMATIC AL

4, Eﬂlv&lﬂrx;.1,;,—.-_5;.,1".."'”,&:;!_?.3:"_; *
5 i F 5
(A) ¥ {B) &8
C) 6 (D) 9

3. I 55% of 1000 + 60% of 2000 = &k @ 2k + 2, then
find the sum of digits of k,
(A) 4 ®) 2
{C) & (D} 3

REASONING

© ﬁé’ o)
'+ means '+, '~ maans %', "+ means '+ and ‘%’ means
=, hen 320 + 225+ 15 x 15-85= 7

(A} 18O (B) 140

{C) 60 (D) —840

In 8 cenain code language, CHEMISTRY is writlen
as NFIDITUSZ. How will BEANSTOCK be written
in that language?
(A) CFBOSLDPU
{C) OBFCSUPDL

(B) CFBOSUPDL
(D) OBFCSLDPU

In the given figure, PQ, RS and UT are paraliel
lines. If c = 75° and & = (2/5)e, then find the value
of b + di2.

“' %

(A) 92° 5
(B) 115* A
(S 112.5" r
0y 135.5°

EVERYDAY MATHEMATICS

. Garima and Mohit deposited ¥ 3000 and 7 4000 B.
in 8 company al the rate of 10% per anpum Tor 3
vears and 2% years respeciivaly. The differance

of the amounts recelved by them will be
(A T100 (B} #1000
{C) ¥ 900 {O) T 1100

Al Shirmila, the temperature was -7°C on Tuesday.
itthen dipped by 3°C on Wednesday. On Thursday,
it rose by 6°C. What was the temperature of Shimla
o Wednesday and Thursday respectively?

. 8.  The ratio of the cuter and the Inner circumference
of a circular path as shawn in the figure is 26 - 25,
If the path is 5 m wide, then find :
{i} the area enclosed by the path

(i) the diameter of the inner circle
[Tarm . %]

10.

Sm

(8) —=4°C, —10°C. (B) =10°C. - 4°C
. {C) -12°C, B*C (D) =10°C, 4°C
(i) (i)
{A) 400714 m? 250 m
(B) 409623 m? 256 m
(C) 334517 m? 125 m
(D) 3372.62 @ 130 m

Read the given statements carefully and select the
correct oplion,

Statement | : I four quantities a, b, ¢ and d ara
such that the ratio & | b is equal o the ratio ¢ : d,
thenwe say ac = bdfand a:de= b e

m— Sarmple Paper | Class-7 | SUF



Statement Wl : faib=5 9andb:c=4 .7, then
A:h:e=2"'38 6%
(AY Both Statemant | and Statement 1 are tree,

{B) Staternent | is true but Statement |l is falsa,
{C) Statement | is false but Statemant [ is true,
{0} Both Statement | and Statement |l are false.

Section — 1 ;' Yerbal and Nen-Vetbal Reasaning

Sethon = 2 - Fordameniats of ompus; Svolation of Computers, Memoey & Steage Do, Algoritims & Fiewed i {iatodicin ad Basic Symibakl Usng Windae WL MEWondllisks,
R Wi, Maacns, Expiring Sipkes. geopl, M- Pt Pin Stiorking with Slides Masier and Tremem, Athangng slices. wing Myperink. and Acions, Customiainy Side Shiras], M5 Exl
iComponnts of MS-Excel window, Tdidng and fomratting ool o & workshest, Introdiction 40 Formalzs, Sorming ard litoeng dirtay Macroy, Festons, of inse and'Page byt bl
Programming i QBauc, Mebweorking and Cyber Sefery,

Section — 310, Robotcs, T gedgets, Dedces deps Computerizenon, and nthar Develcpments in the Feld of IT

Seijon = 4 ; Hgher Ondet Thinking Guesiions = Syflsbus 25 per Secham #and 3.

Questions are based on Windawes 10 and M5-O0fhce 2016

LOGICAL REASONING

Thare |2 a cerlain relationship bebween fig. (i)
and {i). Establish the same relabionship babwoen
fig. {iiiy-and {iv) by sebecting & suitable figure from the
options which will raplace the {2} in fig. ().

& oo €] & =
e | + |
R o S ¢ 5 0O
m iy ()
w [ a” @[
| i}
: A Ry & X%
A5 5. O
i a |
p i v IE A

Mohit starting from & fixed point goes 15 micwands
Morth znd then alter furning to his right he goes

15 m. Than ha goss 10 metres, 15 metres and
15 mefres respectively after luming to his right each
time. How far is he from his slarting point?

(&) 20 metres (B} & malres

{C) 10 metres (D) 15:.meires

Which of the foliowing Venn Diagrams best
reprasents the relationship amongst, “Mobile
phones, Televisions and Elecironic ilems™?

w O O (B) @

O
(© @D D) @Z}:}

COMPUTER SCIENGE

Which of the following parts of File Explorer allows
you fo find documents, images, programs, efc. in
Windows 107

{A) Status box

(B) Preview box

() Search box

(D} Details box

feature of MS-PowerPoint 2016 allows
you bo show onby the selecied shides from the enfire
presentation,
{A) Themes

{B) Hyperink
12 Action
{00 Custorm Shide Show

A browser is an interactive program that pemits

a user to view web pages on the computer. The

browser performs which of the following serices?

(A) Connecting to the source computer whose
address is spacified

{B) Requesting new page from the server

(C) Receiving new page

(D) Al of these

e T ——
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INFORMATION TECHNOLOGY

7. Select the odd ome out, 8. Which of the following generation of compulars is
related lo arfificial intelligence?

*S
(A) L {B) *{® (A} Third generation

(B} First generation
) Fifth generation
() o 0 ¢
‘ = (D} Fourth gemneration

ACHIEVERS SECTION

9. Maitch the following icons ghven in Column-l with (A) {a)(ly, (b)), (o))
their descriptions given in Column-il with respect (B) (@y(iy, (Bp(ui), (c)-iit)
to MS-Excal 2016, () (aj-diii), (b)), {c))
Column-i Column-li {2 (akm, Fb]..'!:i.'l_}'..!:‘.::!'{i”
(a) * i Change pags 10. ;u'h'hai wc_nurd be the oulput of the following program
; : n GBasic?
. araniation )
- X§ = MIDS (“International Computer Science
it | —ﬂl (i) Set the margin sizes Olympiad”, 15, §) PRINT X$
i (A} Computer
i (B} International
] . — (if) Add a break {C) Internat
] (D) Clympiad

Total Guestions ; 50

PATTERN & MARKING SCHEME

SOF INTERNATIONAL

R o | " | Political Life Section
. | MaofQuetioms| | 0w | 0w s
SOCIAL STUDIES OLYMPIAD L"!"'k”" Quies, | 1 1 1 3

SYLLAEUS

section - 1 Higtery - Sousces of Medieval Indian Histary, New Kings and Kingdams, The Dethi Sultanate and the Mughal Empice, Mobile and Settled Communiies.
skt Morvement, Sufism and Regianal Cultures, Mew Political Formatians in the Eighteenth Century

Section - 2 : Geography - Earth and Our Emdranmest, Air and Water, Human-Emdroement Intaractions {Lie In the Tropical and the Sub-tropical Regions, Deserts)
Saction - 3 ; Social and Political Life - Demooacy and Equality, State Govermeent, Unpacking Gender, Understanding Media, Markets Around Us

Section = 4 1 Higher Order Thinking Cuiestians-Sylishos as perfeciion - 1,2 &3,

1. Who among the following ruled between 1236 to 3. In the twelfth cenlury, Anantavarman belongs 1o
1240 In Delhi? which dynasty?
{A) Ala-ud-din Khalji (&) Ganga
(B8) Humayun {B} Chola
(C) Raziyya Sultan {C) Chera
(D) Babur T : (D) Pandya
£. Select the incorrect match. 4, The first Mughal emperor in India was
{A) Gopala — Established Pala Kingdom (A} Jahangir
(B} Bhaja — Founder of Chaola dynasty (B} Shah Jahan
(C} Prithvira] Chauhan - Famous Rashtrakuta King ({C) Babur
(D) Both (B) and (C) (D) Akbar

— Sampie Paper | Class-7 | SUF — — — +'-



5. Which of the following human activities can be {A) 12" century

described to have a negative Impact on the {B) 11" cantury
enviroament? (C) 197 century
(A) Deforestation (0) 13* century

(B} Rairmwaler harvesting

{C) Planting trees &. Right to Education Act came into force from 1 April

(D) All of these 210, Under this acl every child in the age group
of B-14 years
8, Date palm, cactus and thomy bushes ara mostly (&) Will be provided compulsory and free elementary
found in . kel
(A Grasslands (B} Daserts

(B) Will not be forced fo.go 1o school

cy B forests (D) Tund
{C) Evergreen forests. (D) Tundra (C) Will be provided with adequate food and ciothes

7. Inthe ancient South India, Viiayvalaya from Uraiyvur, for his/her farmily
caphured the delta from the Multtaraivar in the middle (D) Wil be admitted {0 a foreign school based on
of which century? hisfher merit,

ACHIEVERS SECTION

2.  Readihe given statemenis and select correct ones. 10, Refer to the given Venn diagram and select the
{i} The Members of Legislative Assembly represent option that correctly identifies X.
peapla.

i) The Govemor iz appointed o ensure that the
Stale Governmant works within the rules and
regulations of the- Constifution,

{in} Governor of the Stete appoints the Chief
Minisierof that stala,

{iv) Members of the Legislathve Coundcils ans alected X ¥
by the people, y
(A} (1) and (il) only (A) Himalaya Sahara
(B} (i} (i} and (i) only (B) Ladakh Thar
() (iv) only {C} Sudan Leh
(D) (i) and {iv) onky (D) Ethiopia Ladakh
¥ T4 Y | ]2
'lﬁ we |y of s | (@) | (3w
insmmnmm W W £ | 10 5
o ot W | 1 i . 3
TR

'-n‘l1whﬂnuﬂmmﬁmnﬁﬂmmmmqﬂmwmwh&mmIhmqnmhhm’mﬂﬁmﬁmw |

s st - Forgn, e, b e o, el el et et |
TE-2r Sk g, R e e T e

T-3¢ TOFR T TG T AT T T |6 1 aSEE AT

1. #faus o fd W) a5 o w1 fem 2. Fraffes o 9 ' IvEm we T Al oHEEe | =2

L #?

() 14 fomar, 1930 (F) T+ T+ A+ T+ T+ T+ A
(=) 14 TEdE, a4 (F) T +FA«q+T+ H+' T+ 3
(T 15 P, 1947 (). T+ F+ [+ + H+ A+ H
(%) 26 T, 1950 (W) T+ FA+ A+ + F+ |+ 3

EH SUF | Sample Paper | Class-7 s




3. fredaiEn o 9 far w owf frste Fom &

5. 'ﬁﬂﬁwﬁqmﬂmﬁl'wmﬁﬁa—m

a.

(H) B o+

(=} B o« o

(M) TEEF - afmm

{2y fTm o+ =i

4 fFefafmzd g I e = B

T B

(=) oy

(|} .

(7). =

CH) YRR

R

(#) wHEE F=E
(®) R
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() 37 O = 77
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() TETEEEE

(T) WEEEE

(n) dfeEEs

(®})  qfHEEE

Frefafin T ) ST W HWew 7 3 8 % 3 dfm—

T T W HAE W, e s
T HYY ] WE S, W 9E-09 T
fed 5 9 =, e Bee o g,
W W WA WY T TR S

7 A ¥ T wE % e ey T

a9 954 9 ueEaE § = wd omm o=
NH AR, W R T ae # o,
s (g wH W, I 4 8w T
o = =, fer o wma w & s
dfwA w1 AF B foed W oA e e

5. HAm o e AR w3 e w9

i3} - () W A
(=) faiw (i}l T
() 90 {ikty arETTE TER
(7) e liv) TETE AW
(7)) i (v) =R
(7) e (vi} T HHW

CFy HA-(), F=(i), B0, 5-(vi), 3-(v), T-(v)
(E) R-[v), F-Gi), B|-(H), T=(v), T-(vil, T=(i)
(M} J-(4), =-(iit), B-{iv), =-fir, B-(v), T={vi)
(F) J-{lv), B-(ifi). W), 400, A-{vl), =)

ST W W], WA, TR W W
T 9w g €, =5 e o wem

[

e

U W W A w3

(%) BTS WH-UPWI TR T A 8
(W) g § v e #

(M) Er 7= FTE 2

(") (w) 3 ()

fom o wE % sew = oEN W S T
&2

1%} &9 (H) "y

(7 zfem (=) w9 m fe

10. 59§ ™ witw % e e udt fawe = o

i

(3 [ (i) |7 F=anm 4 g A s
74 5§ T 2

(7) | (i) |70 WM % TR
Fem T g )

{3 | (i} Fﬂamﬁrmﬁuhﬁ
T T

(%) [siEE () [ e v

C®) F-{iv), A-(ili) . B-(ii), T-(i)

(|} F-(i), T-(i). H-(5). F-(iv)

() A=), A-diii), F-{iv), B-(1)

(") F-(iv), (i), =-(iii); 3-00)
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SPACE FOR ROUGH WORK
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| "
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